Algebra 1
Assignment

Find each product.

1) (4r +3)(4r-3)
3) (7v +5)°

5) (8a+ 1)(8a—1)
7) (4a-4)(4a+4)
9) (2m—7)(2m +7)
11) 2x+2)(2x-2)
13) (7b-2)(7b+2)
15) (3 +3X%)°

17) (n+4)(n—-4)
19) (4r -7)°

21) (7Ta-1)(7a+ 1)
23) (x - 6)°

25) (3n +8)(3n - 8)
27) (5x+1)°

29) (5m+5)(5m—15)

Name

ID: 1

Date

2) (Tn+7)(Tn—-"7)
4) (5% —5)(5% + 5)
6) (2n—2)(2n +2)
8) (5p-7)°

10) (5n—=7)(5n+7)
12) (r-7)°

14) (8k + 3)(8k — 3)
16) (v —5)(V+5)
18) (6X + 6)(6x — 6)
20) (1 +3n)(1 -3n)
22) 3n+1)(Bn-1)
24) (3x —5)(3x +5)
26) (7x+ 1)(7x—1)
28) (2b + 8)*

30) (4x+ 1)

Period



Algebra 1
Assignment

Find each product.

1) (4r +3)(4r -3)

16r* -9

3) (7v +5)°
49v? + 70V + 25

5) (8a+1)8a—1)
64a” — 1

7) (4a—4)(4a+4)
16a* - 16

9) 2m—-7)2m+7)
4m?* — 49

11) 2x+2)2x —-2)
4x* -4

13) (7b—-2)(7b +2)
49b* — 4
15) (3 +3X%)°
9 + 18X + 9x>
17) (n+4)(n - 4)
n’-16
19) (4r-7)°
16r> — 56r + 49
21) (7Ta—-1)(7a+ 1)
49a% -1
23) (x—6)°
X2 — 12X + 36
25) (3n+8)(3n —8)
9n? — 64
27) (5x+1)*
25%% + 10X + 1
29) (5m+ 5)(5m—15)
25m? - 25

Name

ID: 1

Date Period

2) (Tn+7)(Tn—-"7)
49n? — 49

4) (5x=15)(5x+5)
25x2 =25

6) (2n—2)(2n+2)
4n’ -4

8) (5p-7)°
25p? —70p + 49

10) (5n—7)(5n+7)
25n% — 49

12) (r-7)
r? — 14r + 49

14) (8k + 3)(8k — 3)
64k> -9

16) (v —35)(v+5)
vi-25

18) (6x + 6)(6X — 6)
36x% - 36

20) (1 +3n)(1 -3n)
1 —9n?

22) 3n+ DH(3n-1)
9n? -1

24) (3x —5)(3x +5)
9x* - 25

26) (7x+ 1)(7x—1)
49x2 — 1

28) (2b + 8)*
4h% +32b + 64

30) (4x + 1)’
16x> + 8x + 1



Algebra 1
Assignment

Find each product.

1) (7+3p)(7-3p)
3) (4x+1)°

5) (4n—4)’

7) (b-4)’

9) (6b+ 5)°

11) (7b +4)(7b — 4)
13) (6x — 5)(6X + 5)

15) (2x +4)(2x - 4)
17) (7n-5)*

19) (1 + 8a)®

21) (5p+5)*

23) 3n+7)*

25) (x=7)°

27) 3k + 8)

29) (7r — 8)(7r + 8)

Name

ID: 2

Date

2) (6n—"7)(6n+7)
4) (6x — 6)(6X + 6)
6) (2m—7)2m+7)
8) (7x-3)’

10) (8n+6)(8n —06)
12) (4r + 7)(4r—"7)
14) (8 — 2k)(8 + 2k)
16) (3n+ 6)(3n —6)
18) (7 + 7n)(7 - 7n)
20) (x+ 1)(x 1)
22) (1-8n)(1 +8n)
24) (n—4)(n+4)
26) (2 + 5b)(2 - 5b)

28) (4a+ 8)(4a— 8)

30) (2r —4)°

Period



Algebra 1
Assignment

Find each product.
1) (7+3p)7-3p)
49 —9p*
3) (4x+ 1)
16x% + 8x + 1
5) (4n — 4)
16n%>—32n+ 16
7) (b-4)°
b?—-8b+ 16
9) (6b+ 5)°
36b* + 60b + 25
11) (7b + 4)(7b — 4)
49h% - 16
13) (6X — 5)(6X + 5)
36x> - 25
15) (2x +4)(2x — 4)
4%* - 16
17) (7n-5)*
49n% — 70N + 25
19) (1 + 8a)®
1 + 16a + 64a’
21) (5p+5)°
25p? +50p + 25
23) (3n+7)*
9n? +42n + 49
25) (x—7)
X2 — 14X + 49
27) 3k + 8)
9k> + 48k + 64

29) (7r = 8)(7r +8)
49r — 64

Name

ID: 2

Date

2) (6n—7)(6N +7)

36n” — 49

4) (6x—6)(6X+ 6)
36x% - 36

6) (2m—7)2m +7)
4m?* - 49

8) (7x — 3)
49%* — 42X + 9

10) (8n + 6)(8n — 6)
64n* — 36

12) (4r +7)(4r-"7)
16r* — 49

14) (8 — 2k)(8 + 2k)
64 — 4k*

16) (3n+6)(3n —6)
9n? - 36

18) (7 + 7n)(7 — 7n)
49 — 49n*

20) (x+ D(x—1)
x2—1

22) (1 —8n)(1 +8n)
1 — 64n?

24) (n—4)(n +4)
n’-16

26) (2 + 5b)(2 - 5b)
4 —25h?

28) (4a+ 8)(4a-—8)
16a> - 64

30) (2r —4)°
4r’> — 16r + 16

Period



Algebra 1
Assignment

Find each product.

1) (7n-8)(7n + 8)
3) (6-8p)(6+8p)
5) (6r + 8)°

7) (6 + 6x)

9) (4n-6)’

11) k+2)k-2)

13) (2m - 6)(2m + 6)
15) (4m +3)*

17) (6x +1)°

19) 3x+7)(3x-7)
21) (n=7)(n+7)
23) (m+7)(m-7)
25) (5 - 6V)(5 + 6V)
27) (m—=2)>

29) (n+3)°

Name

ID: 3

Date

2) (8 +3)

4) (3n+4)°

6) (8k — 5)(8k +3)
8) (4r —2)(4r +2)
10) (5b+ 1)(5b— 1)
12) (5m-8)°

14) (2x+7)*

16) (8r— 1)(8r+ 1)
18) (4 + 7K)(4 — 7K)
20) (4m+ 1)

22) (4+m)’

24) (6v — 4)(6V +4)

26) (3n+3)*

28) (4% — 6)(4X + 6)

30) (8x — 8)(8X + 8)

Period



Algebra 1
Assignment

Find each product.
1) (7n—=8)(7n +38)
49n* — 64

3) (6—8p)(6+8p)
36 — 64 p?

5) (6r + 8)°

3612 + 96r + 64
7) (6 + 6x)

36 + 72X + 36X>
9) (4n-6)°

16n? — 48n + 36
11) (k+2)(k-2)

k> -4
13) (2m - 6)(2m + 6)

4m? - 36
15) (4m +3)*

16m? +24m+9

17) (6x +1)°
362+ 12x + 1

19) 3x+7)(3x-17)
9x% — 49

21) (n=7)(n+7)
n>—49

23) (m+7)(m—7)
m? — 49

25) (5 = 6V)(5 + 6V)
25 — 36V?

27) (m—=2)>
m? —4m + 4

29) (n+3)°
n’+6n+9

ID: 3

Name
Date Period
2) (8 +3)
64X> + 48X + 9
4) (3n+4)°

9n? +24n + 16
6) (8k — 5)(8k + 5)
64k? — 25
8) (4r —2)(4r +2)
16r>—4
10) (5b+ 1)(5b —1)
25h% - 1
12) (5m - 8)°
25m? — 80m + 64
14) (2x+7)*
4%% + 28X + 49
16) (8r — 1)(8r + 1)
64r’ — 1
18) (4 + 7K)(4 — 7K)
16 — 49k

20) (4m+ 1)
16m? +8m + 1
22) (4+m)’
16 + 8m + m?
24) (6V —4)(6V + 4)
36v:—16
26) (3n+3)*
9’ + 18n+9
28) (4X — 6)(4X + 6)
16x* — 36

30) (8x — 8)(8x + 8)
64x> — 64



Algebra 1
Assignment
Find each product.

1) (7n+1)*

3) 6p-4)°

5) (8n-3)*

7) (x-1)?

9) (5+7m)(5 —7m)
11) (6b - 3)(6b + 3)
13) (2a+8)*

15) (1+7p)(1-"7p)
17) (8n—8)(8n + 8)
19) (7v+7) (v —"7)
21) (8n +4)’

23) (p+4)(p—4)
25) (8n+3)(8n—3)
27) 3k —2)3k +2)

29) (4k — 4)(dk + 4)

Name

ID: 4

Date

2) (r=5)(r+5)

4) (6x+7)(6x—7)
6) (2v—1)°

8) (6X + 6)

10) Bp-7@p+7)
12) (5x = 1)(5x + 1)
14) (4 +2x)°

16) (8x — 5)(8x +5)
18) (8x + 5)(8x —5)
20) (7x —4)(7x +4)
22) (8a+7)’

24) (3 +8%)(3 - 8x)
26) (8 +b)(8 —h)
28) (x+ 8)(x —8)

30) (5 +2n)(5 - 2n)

Period



Algebra 1
Assignment
Find each product.

1) (7n+1)*
49n% + 14n + 1
3) (6p-4)°
36p>—48p + 16
5) (8n —3)
64n> —48n + 9
7) (x-1)?
X2 —2x + 1
9) (5+7m)(5—"7m)
25 — 49m?
11) (6b - 3)(6b + 3)
36b% -9
13) (2a+ 8)*
4a% +32a+ 64

15) (1 +7p)(1-7p)
1 -49p°

17) (8n—8)(8n + 8)
64n? — 64

19) (WV+7) (v -"1T)
49v? — 49

21) (8n +4)’
64n’ + 64n + 16

23) (p+4)(p—4)
p’— 16

25) (8n+3)(8n —3)
64n* -9

27) (3k —2)(3k +2)
9k* — 4

29) (4k — 4)(4k + 4)
16k* - 16

Name

ID: 4

Date Period

2) (r=5)(r+5)
rr—25

4) (6x+ T)(6X—1T)
36x> — 49

6) (2v— 1)
4 —4v+1

8) (6X + 6)
36X% + 72X + 36

10) Bp-7)8p+7)
64p* — 49

12) (5x - 1)(5x + 1)
25x% -1

14) (4 +2x)*
16 + 16X + 4x°

16) (8x —5)(8x + 5)
64x> — 25

18) (8x+5)(8x—15)
64x> — 25

20) (7x —4)(7x + 4)
49x> - 16

22) (8a+7)’
64a° + 112a + 49

24) (3 + 8x)(3 — 8x)
9 — 64x>

26) (8 +b)(8 —b)
64 — b?

28) (Xx+8)(x—18)
x? — 64

30) (5+2n)(5-2n)
25 — 4n?



Algebra 1
Assignment
Find each product.

1) 8x-7)°

3) (7x +2)

5) (k—4)Kk+4)

7) (6b - 7)(6b+7)
9) (6V — 4)(6V +4)
11) (8n—5)(8n+5)
13) (X + 6)(X — 6)
15) (4n+1)°

17) (6 +7x)°

19) (6v +2)(6v —2)
21) (8x +2)(8x—2)
23) (6k +7)(6k — 7)
25) (3x +4)°

27) (8r +3)*

29) (7Tp—6)(7p+06)

Name

ID: 5

Date

2) (6X + 5)°
4) (1p-8)°
6) (5n+3)°
8) (6x—4)’
10) (1 +4n)(1 — 4n)
12) (3n-8)(3n +8)
14) (b -8)*
16) (8x —5)°
18) (7n+1)(7n—1)
20) (2n-5)*
22) (3m + 6)(3m — 6)
24) (3x +3)’
26) (b+2)°
28) (7p +8)°

30) (6k — 5)(6k + 5)

Period



Algebra 1
Assignment
Find each product.

1) (8x—=7)°
64x> — 112X + 49

3) (7x+2)°
49x* + 28x + 4

5) (k—4)(k +4)
k- 16

7) (6b —7)(6b +7)
36b% — 49

9) (6v —4)(6V +4)
36v7 — 16

11) (8n—5)(8n+5)
64n? — 25

13) (X + 6)(x — 6)
x* - 36

15) (4n+1)°
16n>+8n + 1

17) (6 +7x)°
36 + 84X + 49x*

19) (6V +2)(6v —2)
36v% — 4

21) (8x +2)(8x —2)
64x°> — 4

23) (6k + 7)(6k — 7)
36k* — 49

25) (3x +4)°
9x> +24% + 16

27) (8r +3)°
64r> +48r +9
29) (7p—6)(7p +6)
49p? - 36

ID: 5

Name
Date Period

2) (6X + 5)°

36X° + 60X + 25
4) (7p-38)°

49p* - 112p + 64
6) (5n+3)°

25n% +30n + 9
8) (6x —4)°

36x* —48x + 16
10) (1 +4n)(1 —4n)
1 —16n?
12) (3n-8)(3n + 8)
9n? — 64
14) (b -8)*
b — 16b + 64
16) (8x —5)°
64x> — 80X + 25
18) (7n+ 1)(7n—1)
49n% - 1
20) (2n-5)*
4n? - 20n + 25
22) (3m + 6)(3m — 6)
9m? — 36
24) (3x +3)°

Ox>+ 18X+ 9

26) (b+2)°
b? +4b + 4

28) (7p +8)°
49p* + 112p + 64

30) (6k — 5)(6k + 5)
36k? - 25



Algebra 1
Assignment

Find each product.

1) (7n - 6)(7n + 6)
3) (5r-8)’

5) (6n—7)(6n +7)
7) (8n—1)@8n+1)
9) (7n-3)(7n +3)
11) (3 +4%)(3 - 4x)
13) (2n +5)(2n - 5)
15) (5v+7)(5v—7)
17) (6p +3)(6p - 3)
19) (1 +8x)(1 - 8x)
21) (a+7)@a-7)
23) (7v—4)(7V +4)
25) (5% —4)*

27) 2x-1)*

29) (1 + 4b)’

Name

ID: 6

Date

2) Bp+35)3Bp-5)

4) (5r +8)(5r - 8)
6) (3n+7)°

8) (4—-m(4+n)
10) (4r + 3)(4r —3)
12) (6n+1)(6n—1)
14) (3n - 6)*

16) (3a-6)(3a+ 6)
18) (6 +6p)(6 - 6p)
20) (3 +3%)(3 - 3%)
22) (6x—17)°

24) (3k — 8)°

26) (5n - 6)*

28) 2x+7)*

30) (4b —8)*

Period



Algebra 1
Assignment

Find each product.

1) (7n—=6)(7n + 6)
49n* - 36

3) (5r—8)°
25r% — 80r + 64

5) (6n—7)(6n +7)
36n* — 49

7) (8n—1)8n+1)
64n? — 1

9) (7n—3)(7n+3)
49n* -9

11) (3 +4x)(3 — 4X)
9 — 16x*

13) (2n+5)(2n-15)
4n* - 25

15) (5v+7)(5v —7)
25V — 49

17) (6p+3)(6p-3)
36p* -9

19) (1 + 8x)(1 — 8x)
1 - 64x*

21) (a+7)(@-7)
a’—49

23) (v —4)(7v + 4)
49v* - 16

25) (5x — 4)*

25%% — 40x + 16
27) 2x-1)*

4x* —4x + 1

29) (1 + 4b)’
1 +8b+ 16b?

Name

ID: 6

Date Period

2) Bp+5)@p-5)
9p* —25
4) (5r+8)(5r-13)
25r% — 64
6) (3n+7)°
9n? +42n + 49
8) (4 —n)(4+n)
16 — n?
10) (4r + 3)(4r —3)
16r° -9
12) (6n+ 1)(6n — 1)
36n — 1
14) (3n - 6)*
9n? — 36N + 36
16) (3a—6)(3a+ 6)
9a’ - 36
18) (6 + 6p)(6 — 6p)
36 —36p*
20) (3 +3x)(3 - 3x)
9 — 9x?
22) (6x—7)°
36x% — 84X + 49
24) (3k - 8)°
9k* — 48k + 64
26) (5n - 6)*
25n? — 60n + 36
28) 2x+7)*
4x* + 28X + 49
30) (4b - 8)*
16b? — 64b + 64



Algebra 1
Assignment

Find each product.

1) (2x - 8)(2X + 8)

3) (1-%

5) (7k— 1)(7k + 1)
7) (Tr — 4)(7r +4)

9) (8x—1)°

11) (n-3)°

13) (4b-4)

15) (5k +2)

17) (V+5)(V—-5)

19) (7m — 8)(7m + 8)
21) (8b+ 6)(8b —6)
23) 2m+ 1)2m-1)
25) (5 + 8K)(5 — 8K)
27) (7a+8)(7a - 8)

29) (6x—3)(6x+3)

Name

ID: 7

Date

2) (2x +2)°

4) (2n+4)*

6) (7n+2)(7n—-2)
8) (2n-35)2n+5)
10) (2x - 6)°

12) (2 +7v)°

14) (2 + 4x)*

16) (4a+3)(4a-3)
18) (3x +5)(3x - 5)
20) (4 + 7b)(4 — 7b)
22) (4 - 8v)(4 + 8V)
24) (3x - 8)(3x + 8)
26) (3n+3)(3n-3)
28) (2p +8)*

30) (3 + 6n)°

Period



Algebra 1
Assignment

Find each product.

1) (2x—8)(2x + 8)
4x* — 64

3) (1-x°
1 —2x+ x>

5) (7k — 1)(7k + 1)
49k* - 1

7) (7Tr—4)(Tr + 4)
49r’ - 16

9) (8x—1)°
64x> — 16X + 1

11) (n-3)?
n>—6n+9

13) (4b—4)*
16b%>—32b + 16

15) (5k +2)°
25k? + 20k + 4

17) (V+5)(v - 5)
v2 =25

19) (7m —8)(7m + 8)
49m? — 64

21) (8b + 6)(8b —6)
64b* — 36

23) 2m+ D2m-1)
4m? - 1

25) (5 + 8K)(5 — 8Kk)
25 — 64k?

27) (7a+8)(7a—8)
49a° — 64

29) (6x —3)(6X + 3)
36x* -9

Name

ID: 7

Date Period

2) (2x +2)°
4% + 8x + 4

4) (2n +4)°
4n%+16n + 16

6) (7n+2)(7n—2)
49n% — 4

8) (2n-5)(2n + 5)
4n*-25

10) (2x - 6)°
4x* — 24X + 36

12) (2 +7v)°
4 + 28V + 49v*?

14) (2 + 4x)*
4 + 16X + 16x>

16) (4a+3)(da-3)

16a* -9

18) (3% + 5)(3x —5)
9x? — 25

20) (4 + 7b)(4 — 7b)
16 — 49b*

22) (4 — 8V)(4 + 8v)
16 — 64v*

24) (3x—8)(3x+8)
9x* — 64

26) (3n+3)(3n-13)
9n*-9

28) (2p +8)*

4p? +32p + 64
30) (3 +6n)°

9 + 36N + 36n°



Algebra 1
Assignment

Find each product.

1) (1-8x)(1 +8x)
3) (4 +3n)(4 - 3n)
5) (1-n)’

7) (4b+7)

9) (8 + 6)(8x — 6)
11) (2v - 8)(2v +8)
13) (n+6)(n-6)
15) (5n +2)(5n-2)
17) (8x — 1)(8x + 1)
19) (8x + 7)(8x—7)
21) (6n — 4)(6n + 4)
23) (1+2x)°

25) (r+1)(r—1)
27) 5r+7)°

29) (5x—=1)(5x+1)

Name

ID: 8

Date

2) (3k+3)*

4) (2n+6)°

6) (2r —3)(2r +3)
8) (3x + 6)(3x — 6)
10) (8x —4)*

12) (r—4)r+4)
14) (n+4)°

16) (7b—1)(7b+ 1)
18) (3v + 8)°

20) (5x —2)*

22) (2a+ 6)(2a - 6)
24) (3v+2)°

26) (7a—6)(7a + 6)
28) (x +2)°

30) (6 + 5v)

Period



Algebra 1
Assignment

Find each product.

1) (1 —8x)(1 + 8x)
1 — 64x>

3) (4+3n)(4-3n)
16 — 9n?

5) (1-n)’
1-2n+n?

7) (4b+7)°
16b? + 56b + 49

9) (8 + 6)(8x — 6)
64x> — 36

11) (2v-8)(2v +8)
4v? - 64

13) (n+6)(n - 6)
n’-36

15) (5n+2)(5n—2)
25n% — 4

17) (8x—1)(8x + 1)
64x> -1

19) (8x+ 7)(8x —7)
64x> — 49

21) (6n - 4)(6n + 4)
36n% - 16
23) (1+2x)°
1 +4x + 4x*
25) (r+1)r-1)
r’—1
27) 5r+7)°
25r% +70r + 49

29) (5x—=1)(5x+1)
25x% - 1

ID: 8

Name
Date Period
2) (3k+3)*
9k>+ 18k + 9
4) (2n+6)°

4n? +24n + 36
6) (2r—3)(2r +3)
4r* -9
8) (3x+6)(3x—106)
9x% — 36
10) (8x —4)*
64x> — 64x + 16
12) (r—4)(r+4)
r’—16
14) (n +4)°
n+8n+16
16) (7b—1)(7b + 1)
49h2 — 1
18) (3v + 8)°
9v? + 48V + 64
20) (5x —2)*
25x2 - 20x + 4
22) (2a+ 6)(2a— 6)
43> - 36
24) (3v+2)°
ovZ+12v+4
26) (7a—6)(7a+ 6)
49a° — 36

28) (x +2)°
X2+ 4X + 4

30) (6 + 5v)
36 + 60V + 25v>



Algebra 1
Assignment
Find each product.

1) @n-8)’

3) (6v - 6)°

5) (m-3)°

7) (4+n)4-n)

9) (x—6)(x+06)
11) 2m +2)(2m - 2)
13) (4a + 6)(4a - 6)
15) (3a+4)°

17) (2b +8)(2b - 8)
19) (2x — 4)°

21) (6x +7)(6x—7)

23) (6 + 2V)(6 — 2V)
25) (8a-—3)’
27) (1 +6v)*

29) (8n - 5)(8n + 5)

Name

ID: 9

Date

2) (6n + 8)

4) (5x—1)(5x+1)
6) (4% — 8)(4x +8)
8) (3b+ 1)

10) (3 +5%)(3 - 5%)
12) (n+8)°

14) (3k - 8)(3k + 8)
16) (8n - 1)*

18) (2v - 6)°

20) 3n+7)*

22) (6b +3)(6b - 3)
24) (5% + 8)(5x — 8)

26) (3 +3n)(3 - 3n)

28) (2b+7)(2b-7)

30) (2n-2)*

Period



Algebra 1
Assignment
Find each product.

1) (2n-28)’
4n*>-32n+ 64

3) (6v - 6)°
36v% —72v + 36

5) (m-3)°
m?—6m+9

7) (4 +n)4—-n)
16 —n?

9) (X —6)(X + 6)
x* - 36

11) 2m+2)(2m -2)
4m? — 4

13) (4a+ 6)(4a — 6)
16a* - 36

15) (3a+4)*
9a’+24a+ 16

17) (2b + 8)(2b —8)
4b* — 64
19) (2x — 4)°
4x2 -~ 16X + 16
21) (6x+ 7)(6Xx—17)
36x% — 49
23) (6 + 2v)(6 — 2V)
36 — 4v?
25) (8a-—3)’
64a’> —48a+9
27) (1 +6v)°
1 + 12v + 36v?

29) (8n—15)(8n+5)
64n* — 25

Name

ID: 9

Date Period

2) (6n + 8)
36n% + 96N + 64

4) 5x—=1D(5x+1)
25%% -1

6) (4x — 8)(4x + 8)
16x> — 64

8) (3b+ 1)
9b% +6b + 1
10) (3 + 5%)(3 — 5x)
9 —25x?
12) (n+8)°
n%+ 16n + 64
14) (3k — 8)(3k + 8)
9k? — 64
16) (8n - 1)*
64n°> — 16n + 1
18) (2v—-6)°
4v? — 24v + 36
20) 3n+7)*
9n? +42n + 49
22) (6b + 3)(6b —3)
36b* -9
24) (5x + 8)(5x — 8)
25x> — 64
26) (3 +3n)(3 -3n)
9 —9n?
28) (2b+7)(2b—-17)
4b? — 49
30) (2n-2)*
4n* - 8n + 4



Algebra 1
Assignment

Find each product.

1) (4X — 6)(4X + 6)
3) (5m+2)°

5) (Tp+8)(7p-8)

7) (5% + 8)(5x — 8)
9) (5m - 3)>

11) (8v —2)°

13) (7n+3)’

15) (7x+ 1)(7x = 1)
17) (5b-2)*

19) (6r —2)*

21) (7Tx—1)(7x+1)
23) (b-8)(b+8)
25) (3b+ 8)(3b - 8)

27) (5k - 3)(5k +3)

29) (5x=5)(5x+5)

Name

ID: 10

Date

2) (8x— 1)(8x+1)
4) (7a+4)*

6) (4x +3)(4x—3)
8) (n+DH(n-1)
10) (7n-3)*

12) (7x+7)°

14) (8n+ 1)°

16) (4x + 1)*

18) (n-2)’

20) (4n —6)*

22) (8m + 6)°

24) (8k + 5)°

26) (6x —3)’

28) (4 - 2n)(4 +2n)

30) @p+7)dp-"7)

Period



Algebra 1
Assignment

Find each product.
1) (4x — 6)(4x + 6)
16x* — 36

3) (5m+2)°
25m? +20m + 4
5) (7Tp+8)(7p—23)
49p? - 64
7) (5x+ 8)(5x —18)
25%x% — 64
9) (5m - 3)>
25m? - 30m + 9
11) (8v —2)°
64v> — 32v + 4
13) (7n+3)°
49n% +42n+9
15) (7x+ 1)(7x - 1)
49%* — 1
17) (5b-2)*
25b% —20b + 4
19) (6r —2)*
36r% — 24r + 4
21) (7x—=1)(7x+1)
49x% — 1
23) (b—8)(b +8)
b? — 64
25) (3b +8)(3b —8)
9b? — 64
27) (5k —3)(5k + 3)
25k* -9
29) (5x=5)(5x+5)
25x% - 25

Name

1D: 10

Date Period

2) 8Xx—1)8x+1)
64x* — 1

4) (7a+4)°
49a* + 56a + 16

6) (4 + 3)(4x —3)
16x* -9

8) (n+1)n-1)
n‘-1

10) (7n-3)*
49n? —42n +9

12) (7x+7)°
49%> + 98X + 49

14) (8n+ 1)°
64n? +16n + 1

16) (4x +1)°
16x% + 8x + 1

18) (n-2)*
n’—4n+4

20) (4n —6)*
16n* — 48n + 36

22) (8m + 6)°
64m? + 96m + 36

24) (8k +5)°
64k? + 80k + 25

26) (6x —3)’
36X% — 36X+ 9

28) (4 —2n)(4 +2n)
16 — 4n?

30) 4p+7AEp-7)
16p* — 49



